S.172/22g9, h  (nur D, Symm., Nullst., Asymptoten, Ableitung)

9)

h)

ID =]1-2;0[ulO;00[;
keine Symmetrie zum KOSY
Nullstellen: xq4 = 2 ; X2
Asymptoten:

X = -2; x = 0;
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keine Extrempunkte ;
monoton zunehmend
fir x < 0 ;

monoton abnehmend

-
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fiir x > 0 ;
Wendepunkt:
X3= —4+42J2~-1,17;
142 | 5 50,

Ya3= In )
W = 1IR.
D = IfF\{e:é} ; keine

keine Nullstelle ;
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Symmetrie zum KOSY ;

Asyvmptoten: X =e ; X = % ;y = =1 ;

4 Inx
1 e .
X = = Inx2z
£ (x) = 4-41nx+ 12(1nx)2+4 (1n x)3
X2 (1=-(1ln x)2)3 !
Tiefpunkt: X1 = 1; va = 1 3

Wendepunkt: nicht elementar ermittelbar

o = H(\[*];T] .



